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1. Cdnsider the following program: (16%)

program P ;

i).l.'ocedure A(x, y, z);
begin
y=ytl;
z:=ztx;
end
begin
a=1,
bi=2,;
A(atb, a, a);
writeln(a)
end
What number would be printed by the above program using each of the following
methods of parameter passing:
(a) call-by-value
(b) call-by-value-result
(c) call-by-reference

{(d) call-by-name
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2. Consider the two looping constructs: while E do S and repeat S until £, (30%)
(a) Draw the control flow diagram of while E do S.

(b) Draw the control flow diagram of repeat S until £,

(¢) Describe the same points between while and repeat.

(d) Describe the differences between while and repeat.

(e) Rewrite: while £do S by using repeat construct.
(f) Rewrite: repeat Suntil £ by using while construct.

3. Compare compilation and interpretation. (24%)
(a) Describe how compilation and interpretation work.

(b) Describe the differences between compilation and interpretation.

(c) Describe the advantages and disadvantages of compilation and interpretation.

4, A BNF grammar is as follows. (20%)

<expression> = <expression> -+ <term>
| <expression> — <term>
| . <term=
<term> = <term>* <factor>
| <term> /[ <factor>
| <factor>
<factor>:= number
| name
| ‘(‘ <expression>"‘)

(a) Use EBNF to rewrite the grammar.
(b) Use Syntax Chart to represent the grammar.
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5. Consider the following program: (10%)
program main;
var X : integer;
procedure subl;
bagin {sub1l}
writeln( ‘x =, x)
end; {subl}
procedure sub2;
var X : integer;
begin {sub2}
Cox = 10;
subl
end; {subz}
begin {main}
X 1= 5;
sub?2
end. {main}

(a) Under static scooping rules, what value of x is printed in procedure sub1?
(b) Under dynamic scooping rules, what value of x is printed in procedure subi?




